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I 2 mwn: examples of 13 for N»1aw , 0N, ,(J2IP)IT
a added example of n»1aw — variation of Aramaic word for oath —>mna
i 27w must associate it with oath made by n"yn
b dispute regarding nature of p>:
i :linguistic perversions in places where mixed semitic languages spoken
ii 9" deliberate variations (v. 1) created by sages to prevent people from saying 1297 (so they wouldn't say
'nY% 129p so they wouldn't say 1277 'n% so they wouldn't say 'n% independently)
1  as per w™: even when properly designating an animal for N21pn, say 'n% NRYN not NRYN 1> (v. 2)
iii Suggestion: dispute parallels dispute n"2/v"1 regarding validity of n15 »> (v"a validate)
iv  Rejection: all hold like »" — dispute is either:
1  1: whether they also use these further perversions of language OR
2 2: whether we prohibit 0”3 13 as a precaution against 113
(a) split the difference: whether violation carries mpn
3 (examples of 013 M3 in all four areas given —v. 3)
I 7»mon:
a  alterntative ways to state 127p for 9m
i if he says pYiny what I will eat — prohibited (means: "What I would eat will not be 15, rather j29p3)
1 inference: cannot be authored by n™, who doesn't allow for inverted inferences (1:3 YVY1'p)
(a) alternate ruling
(i) 1r9n/a/n — whether followed by "what I will eat" or "what I won't eat" — permitted
(i) oY —"what I will eat"- prohibited; "what I won't eat" — permitted
(iii) cannot be n™ (as above)
(iv) challenge: n™ states that "127p what I won't eat” is valid, as if he said "what I would eat of
yours will be considered a 129p therefore I won't eat of it"
(v) explication: n" should say the same here- "what I would eat won't be considered 1510 therefore
I'won't eat of it"
(vi) answer: our ®in accepts n™ in 1 area (inverted inferences) but not the other (j27p)
(vii) alternate answer (#wx *3): difference between pon? and poin?
ii  if he says 1Y RY ,(11NV) 727 RY ;71 ®Y what I will eat of yours — prohibited (as per above)
iii  if he says Yma ,3m 8NV — prohibited (these are prohibited circumstances of 117p)
b 91 nvann - "tethering" a 971 to a M 7IN 727
i XMR) (lamb, referring to Tnn 117p)
ii D115 (may mean corral or shed of wood)
iii ¥y (used for narn)
iv  wr) (burnt offerings)
v namd (that which is brought upon it)
vi 9313 (that which is brought there)
vii 5w (that which is brought there)
viii any of the vessels used for the narn
nm 1 if he said oY1 —invalid
difficulty: rest of nywn cannot be authored by nm '3 (nor n™ — see above)
answer: entire mwn is T ', last line is explanatory (if he leaves 9”3 off, invalid)
challenge: N 1 states that even 09w11’3 is invalid
answer: 2 versions of nTi 7 are represented in the mwn
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